Directorate of Admissions & Competitive Examinations



University of Kashmir

NAAC Accredited Grade A++ University Srinagar - 190 006, Kashmir, J&K

Dr. Fayaz AhmadProfessor Zoology & Director DACE

Main University Campus Hazratbal, Srinagar

Selection Notification No.: 12-PG of 2025

PG, M.Tech, LL.B, Integrated, B.Tech (Lateral Entry) and Management Programmes (Session 2025)

- The Candidates, whose particulars are mentioned in the selection lists appended to this notification, have been provisionally selected for admission to PG, M.Tech, LLB, Integrated, B. Tech (Lateral Entry) and Management Programmes under General Quota offered by this University purely on the basis of Entrance Test score and/or Qualifying Merit as per admission policy.
- II) Provisionally selected candidates are required to download their "Admission Form" from the official website of the University under "Admissions" tab on the home page and click on "Submit Admission Form for 1st Semester" from 27th August 2025 by entering Roll Number or Form Number and DOB.
- III) Fresh candidates (who haven't applied earlier) shall visit the Directorate of IT&SS for filling the application form and then only they can download the admission form.
- IV) The provisionally selected candidates shall complete the admission form and visit the concerned Department for **completing the admission formalities by or before**Friday, 29th August 2025 (3:00 p.m.).

Important Note:

The Heads/Directors/Coordinators/Principals, of all the concerned Departments/Institutes/Centres/Campuses/affiliated Colleges, who are the Chairpersons of Departmental Admission Committee, shall ensure that all the provisionally selected candidates possess the minimum required eligibility. The same may be verified with reference to the original documents/certificates of the candidate. The admission form of only eligible candidates should be accepted online and provisionally selected candidates allowed depositing online fees.

The admission of the candidates is subject to:

1. Production of all relevant original documents [Marks Certificate/Transcript of qualifying examination, Character and Provisional certificates, Reserved Category Certificate, Migration Certificate (wherever applicable)].

Note: Since result has been recently declared and most of the candidates have to seek exit from their colleges, they may be allowed to submit NAD generated 'semester-wise marks cards' till they get the Official Transcript from the University.

- 2. Production of eligibility cum revival of registration/migration form, wherever applicable, alongwith prescribed fee;
- 3. Fulfilling of minimum required eligibility conditions to be verified by the concerned Department/Centre/Institute/Campus/College;
- 4. Clearance be sought from the Academic Section in respect of candidates having qualified examination from Universities/Institutions other than Universities/Institutions of Jammu, Kashmir and Ladakh;
- 5. Production of an affidavit sworn in before 1st Class Judicial Magistrate stating that:
- ✓ I am not on rolls of any Institution for any regular programme;
- ✓ All the submitted certificates/documents are genuine and authentic;
- ✓ I shall strictly adhere to the rules and regulations of the University of Kashmir *in toto*;
- ✓ I understand that in case of any misinformation or concealment of any information or indiscipline or misconduct, my admission to the programme shall be cancelled and I shall be subjected to legal action;
- ✓ I submit this affidavit under free will without any pressure, compulsion, fraud or coercion.
- 6. The provisionally selected candidates shall approach, alongwith the admission form and all the relevant certificates and documents (original and self-attested Xerox copies) to the concerned Department/Institute for verification of documents/ certificates and online acceptance of Admission form for depositing the prescribed Fee via online mode upto 29th August 2025.
- 7. Any provisionally selected candidate failing to complete the admission formalities upto 29th August 2025 (3:00 p.m.) shall forfeit his/her right to admission and the resultant vacancy (ies), if any, shall be filled up from among the waiting list. A candidate, who forfeits admission, shall not be given another chance till candidates are available in the merit list.
- 8. The Heads/Directors/Principals are hereby informed to kindly forward the vacancy list (if any) on 29th August 2025 upto 04:00 p.m., so that waiting list is operated.
- 9. Please note that all the Notifications shall be made available only on the Official website of the University and notices shall not be published in print media nor shall any candidate be informed individually.
- 10. Notices uploaded on the official website of the University shall be deemed to have been served to the candidates.
- 11. For fee details please click on the link below:

https://www.kashmiruniversity.net/Download/Course%20Fee 2025.pdf

Sr.	Form No.	Name	MM	МО	%age`		
	M Tech (Computer Science Engineering (Main Campus))						
	OM						
1	25108913	WASEEM BASHEER	10	6.79	67.90		
2	25103328	MOHAMMAD FAIQ	10	6.33	63.30		
3	25108857	WASIQAH ALI	5000	3000	60.00		
4	25108887	ZUBAIR ALI	0	0	0.00		
	M.Ed. (Main Campus)						
OM							
1	25108934	BISMA HABIB	10	8.35	83.50		
2	25108952	NAZIMA YOUSUF	10	8.25	82.50		

3	25108985	SHAMEEM AHMAD PARRA	10	7.8	78.00	
4	25108922	SEHR UL IRAM	10	7.2	72.00	
5	25108918	BARKAT ULLAH	1000	702	70.20	
6	25108974	NUJEEBA WAZIR	1400	973	69.50	
7	25108961	FATIMA BASHIR	10	6.91	69.10	
8	25106753	JAVID AHMAD DAR	0.00	0	0	
9	25103007	KULSOOMA WALI	0.00	0	0	
10	25104343	NAVEED AHMED	0.00	0	0	
	Masters in	Home Science (Human Developmen	nt) (Ma	ain Cam	pus)	
		\mathbf{OM}				
1	25108912	SHAYESTA REYAZ	10	5.49	54.90	
		Masters in Statistics (Main Cam	pus)			
		OM				
1	25108879	ISHRAT JAN	10	8.52	85.20	
2	25108880	BAREENA GANI	10	7.16	71.60	
3	25108957	HUMAIRA FAYAZ	10	7.12	71.20	
4	25108908	NAZIM AHMAD KUMAR	10	5.86	58.60	
5	25108927	SHARIQ GULZAR LAWAY	0	0	0.00	
		Masters in Linguistics (Main Car	npus)			
		OM				
1	25108977	BISMA BASHIR	2800	1940	69.29	
2	25108989	BEBI HUSSINA	10	6.4	64.00	
3	25108971	MIR IFLA AASHIQ	10	5.98	59.80	
4	25108885	NAJMA TABASSUM	4450	2570	57.75	
	Mast	ters in Business Administration (So	uth Ca	mpus)		
	112000	OM				
1	25108901	NAJMA TABASSUM	4450	2570	57.75	
		MCA (South Campus)				
		OM				
1	25108866	SAKIYA SYEED	10	7.53	75.30	
2	25108894	MEHKEY JAN	10	7.24	72.40	
3	25108956	DURAFSHAAN RIYAZ	10	7.02	70.20	
4	25108891	AMANDEEP KOUR	10	6.88	68.80	
5	25108915	MUTEEB SALAM BHAT	10	5.75	57.50	
6	25108893	UMEKA GULZAR	0	0	0.00	
		M.Ed. (South Campus)				
		OM				
1	25108982	AALIA JAN	1000	800	80.00	
2	25108984	DAR NAJAMUL GULZAR	10	7.85	78.50	
3	25108937	SENTY BASHIR	1000	754	75.40	
4	25108953	BISMA JABAR	1000	725	72.50	
5	25108861	SHAZIA ALI MIR	100	72	72.00	
6	25108871	SAIMA RIYAZ	1000	658	65.80	
Masters in English (South Campus)						
		\mathbf{OM}				
1	25108909	OM FARHAT MAJEED	10	6.07	60.70	
1	25108909	FARHAT MAJEED		6.07	60.70	
1	25108909	FARHAT MAJEED Masters in English (North Cam		6.07	60.70	
		FARHAT MAJEED Masters in English (North Cam OM	pus)			
1 1 2	25108909 25108883 25108959	FARHAT MAJEED Masters in English (North Cam		7.91 6.34	79.10 63.40	

B.Tech Lateral Entry (Computer Science Engineering) North Campus							
OM							
1	25276133	ZUFAIZ SANEEN	0	6.00	6		
2	25276140	UMAR FAROOQ BHAT	0	5.00	5		
3	25276273	AFAQ TARIQ ZARGAR	1000	919	91.90		
4	5-Year Inte	grated Masters programme in Busi	ness A	dministr	ation		
		(North Campus)					
		OM					
1	25194398	SUMAIRA AZIZ	500	395	79.00		
2	25194374	FARHAN ALI	500	375	75.00		
3	25261187	SABIT MANZOOR	500	368	73.60		
4	25194379	MUHAMMAD WANI	0	0	0.00		
5	25261186	KAISER MAJEED MIR	0	0	0.00		
M	Tech (Elec	tronics & Communication Engineer	ring), Z	Zakura (Campus		
		OM	<i>O</i> , ,		•		
1	25108978	AMAN SAJAD	7750	5560	71.74		
	B.Tech Late	eral Entry (Electronics & Commun	ication	Engine	ering)		
		Zakura Campus		8	8)		
		OM					
1	25276257		1000	667	66.70		
1		teral Entry (Mechanical Engineerin					
	D. I CCII Lai		ig) Lak	ura Car	npus		
1	2527(242	OM	Ι ο	(50	(-		
2	25276242	TABIA BASHIR	1000	6.50	6.5		
	25276250	TAWHEED IRSHAD	1000	781	78.10		
	3-1	Year LL.B. (Kashmir Law College I	Nowsne	enra)			
_	T	OM	T	T	T		
1	•	RUTBA FAROOQ	10	6.54	65.40		
3	25108991	TABISH HAMID	10	6.35	63.50		
4	25108865 25108936	ASHIQ BILAL LONE SHAHID AHMAD	10	880	62.90 62.86		
5	25108936	RAFIYA MANZOOR	0	0	0.00		
3-Year LL.B. (KCEF, Pulwama)							
		OM	IIa)				
1	25108882	ROOMI NAZIR	10	7.79	77.90		
2	25108882	UROOJA MANZOOR	10	6.85	68.50		
3	251089892		100	67.4	67.40		
		3-Year LL.B. (Sopore Law College			270		
		OM	, Sopor	<i>-</i>			
1	25108951	SUHEEL MOHD ZARGAR	100	61.4	61.40		
1					01.70		
	Masters in Business Administration (SSM College)						
1	25100006	OM ZOVEL EATIMA	10	7 21	72.10		
2	25108886 25108933	ZOYEL FATIMA AMBER BILAL	10	7.21 6.985	72.10 69.85		
3	25108933	MUSKAN HAMID	10	6.18	61.80		
4	25108907	MEHREEN MASOOD MALIK	10	5.86	58.60		
•		ters in Business Administration (Il					
	(8)						
1	25108941	ASRA ZAHOOR	1000	706	70.60		
1	2J1U0741	MOHAMMAD MEHRAB UL MUSHTAQ	1000	/00	/ 0.00		
2	25108981	DAR	10	6.5	65.00		
		İ		·			

3	25108914	IQRA ALI	10	5.91	59.10		
	MCA (Islamia College of Science and Con	nmerce	. Hawal			
OM							
1	25108958	SUMAIYA CHISTI	1320	1156	87.58		
2	25108962	MANSHA NAZIR	1320	1040	78.79		
3	25105936	MISBA ZAINAB	10	7.82	78.2		
4	25108986	SUMMER SAMMER JAN	10	6.02	60.20		
		MCA (GDC, Baramulla)					
		OM					
1	25108983	JAVAID AHMAD MALIK	10	6.74	67.40		
		Masters in Chemistry (GDC, Ana	ntnag)				
		OM	8)				
1	25108950	MAHROOSA MANZOOR	10	8.06	80.60		
2	25108936	BAZZAM MANZOOR	10	7.66	76.60		
3	25108960	NARGIS MAQBOOL	10	6.93	69.30		
4	25108944	INSHA SADEEQ	10	6.46	64.60		
. A	5-Year Inte	grated Masters in Energy Studies	(Kupw	ara Car	npus)		
		OM					
1	25194377		500	380	76.00		
-		Integrated Masters in Physics (Ku			1		
	J-1 car	OM	ywara	Campus	9)		
1	25104297		500	202	79.60		
2	25194387 25194377	ASHIQ HUSSAIN BHAT SAHIL AMIN	500	393 380	78.60 76.00		
	23194377	PG Diploma in Hindi (Main Can		360	70.00		
			npus)				
-	25200151	OM	10	7.0	70.00		
2	25280151 25280152	ANJUMANN RASHID BAZILA RASHID	10	7.8 7.5	78.00		
3	25280152	SHEIKH SADAF AMIN	10	6.69	75.00 66.90		
PG Diploma in Persian (Main Campus)							
		•	mpusj				
1	25200145	OM	1000	953	47.22		
1	25280145	KHALID NABI	1800	852	47.33		
	P	G Diploma in Bioinformatics (Main	i Camp	ous)			
		OM	T	T =	T =		
1	25280138		10	7.64	76.40		
3	25103770	SHOWKAT HAMID LONE FAHEEM SHOWKAT	10	7.29 6.91	72.90 69.10		
4	25280144 25280146	SYEED SHAZIA SHAREEF	1800	1009	56.06		
T		in Manuscriptology & Paleography					
	Dibioma		y (IVIAII	ı Camp	usj		
1	252001.42	OM	1000	1114	(1.00		
1	25280143		1800	1114	61.89		
	Dipioma in	Addiction Psychology and Rehabil	utation	Counse	eiling		
(Main Campus)							
		OM					
1	25280150	NAVREEN SHAFI	10	8.06	80.60		
2	25280148	IQBAL AHMAD BANGOO	1300	885	68.08		
3	25280154	ROZY AMIN	10	6.08	60.80		
Certificate Course in Sanskrit (Main Campus)							
OM							
1	25280140	SHEEMU BASHIR	500	275	55		

Certificate Course in Modern Spoken Persian (Main Campus)							
OM							
1	25280139	SYED BURHAN FAYAZ ANDRABI	500	386	77.20		
2	25280140	SHEEMU BASHIR	500	275	55.00		
Certificate Course in Hindi (Main Campus)							
ОМ							
1	25280140	SHEEMU BASHIR	500	275	55		
Certificate Course in German (Main Campus)							
OM							
1	-	TAHAA RASHID	500	397	79.4		

Director, DACE

No.: F12 (Sel-PG/M. Tech/B. Tech(LE) Integ./Mgt.) DACE/KU/25 Dated: 26-08-2025